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Question 1 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
Booklet A

What does the digit 5 in 304.15 stand for?

A) 5tens
B) 5 tenths
C) 5 hundreds

¥' D) 5 hundredths

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 13th Sep 2021

Last Modified: N/A

QID#: 29,000,849
Question 2 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What is 502.5+107?

A) 5.025
B) 5.25
v’ C) 5025

D) 5025
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

A) 12
B) 13
v C) 31

D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4

A) 15%
v B) 25%
C) 30%
D) 50%

Question Type:
Date Added:

Last Modified:
QID#:

Question 5

Randomize Answers:

ClassMarker - Manage Test

Muiltiple Choice

No

Mon 13th Sep 2021
N/A

29,000,857

Find the value of 36-(6x2)+4-2

Muiltiple Choice

No

Mon 13th Sep 2021
N/A

29,000,863

Express 30 cm as a percentage of 120cm

Muiltiple Choice

No

Mon 13th Sep 2021
N/A

29,000,877

Hirey imarmy abilles mre e in 4; 7
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A) 8
B) 14
c) 26
v D) 28

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) 2kg5g
v ' B) 2kg50g
C) 20kg5g
D) 20kg50g

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 7

A) 30
B) 80
v C) 120

D) 140

Question Type:
Date Added:

Last Modified:
QID#:

Question 8

Randomize Answers:

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,000,883

Which of the following is the same as 2050g?

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,000,888

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,000,893

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Primary 5 Maths » Primary 5 Maths (Term 4)

There are 200 red and blue balls. 60% of the balls are red. How many balls are red.

Primary 5 Maths » Primary 5 Maths (Term 4)
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A ribbon 10m long is cut into 8 pieces. How long is each small piece of ribbon ?

A) 0.8m
v B) 1.25m
C) 12.5m
D) 800cm
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,275
Question 9 Primary 5 Maths » Primary 5 Maths (Term 4)

Given thal thetasa of ifangle ABF i AF, which of the fofiowing 1s the

correspandieg height?
B
i
§
i
!
.d
A F ¢
v A) BC
B) BF
C) DF
D) EF
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,282
Question 10 Primary 5 Maths » Primary 5 Maths (Term 4)

There are 24 boys and 16 girls in the class. What is the ratio of the number of boys to the rural number
of students in class?

A) 23

B) 32

C) 35
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D) 25

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

ClassMarker - Manage Test

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,002,288

What i3 the maximum number of 2-em eubes you can put In the coboéd

En:m\_‘-‘

v ' A) 60

B) 75
C) 300
D) 600

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

N

Bem

12 em

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,002,308

Primary 5 Maths » Primary 5 Maths (Term 4)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

v A)
| 13 3
371011
B
a5
1011 'z
C)
213
11 '3 "1
D) 3 2 1
11 "10 "9

inea, e AOF = £ FOE: Find £ADB,
B
4]
&
F 20"
E
o
A) 70
B) 130
v C) 140
D) 160

Multiple Choice

No

Mon 13th Sep 2021
N/A

29,002,316

Airranga tha foliowing fracfiors in descending onder.

3 1 3
1 " F 10

ClassMarker - Manage Test

In the diagram Laelow, nol diswn o scale, ines AT SR EOH ane Slaight
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Mon 13th Sep 2021

Last Modified: N/A

QID#: 29,002,329
Question 14 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Two Idanticol ahopas wess overlapped to fanm (e Mguire batov. Tha
Unshaded oran AlaS times thol of shaced sres B. What |s 1he mio of The
Aiea ol the sheded part io the ams of therwhals Rgurg 7

A) 19
B) 1:10
v e 1
D) 1:12
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,333
Question 15 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

There are 3 times as many pens as erasers. The ratio of the number of erasers to the number of rulers
is 3:2. There are 28 more pens than rulers. How many pens are there?

A) 8
v B) 36

C) 56
D) 84

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 13th Sep 2021
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Last Modified: N/A
QID#: 29,002,341
Question 16 Primary 5 Maths » Primary 5 Maths (Term 4)

Write 5 million, twenty five thousand, three hundred and two in numerals

Accepted answers:
v’ 5025302

v’ 5025 302

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,346

Question 17 Primary 5 Maths » Primary 5 Maths (Term 4)

1 1
ﬂ-i-ﬂi_ |

Accepted answers:
v 5/6
v 56
v 5/6

v 5/6

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,347

Qu estion 18 Primary 5 Maths » Primary 5 Maths (Term 4)

Mr Less sold 48, 50 and 46 egg tarts on Monday, Tuesday and Wednesday respectively. He did not sell
any eggs on Thursday. What is the average number of egg tarts he sold from Monday to Thursday?

Accepted answers:

v 36
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Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,354

Question 19

T aubokd balow has & equare bese of & omoand kength of 8 em
Firnd Ha voluma

:| y
Iiln—ua—;-;-;:ﬁ_
4 em

Accepted answers:
v’ 144cm3
v’ 144 cm3

v 144

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,360

Question 20

EMIIEER 2% =3 B decimal, rounded r.'rﬂ'll.‘: ihe nesmest 2 decimal places.

Accepted answers:

v 278

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,365
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Question 21 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
Tha figune belaw is not drwwn 1o scale. ASE 1S a stalghit ine. Find S0
G
! -
o B
Accepted answers:
v 124
Question Type: Free Text
Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,368
Question 22 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
a)2490cm=__m
Accepted answers:
v 243
v’ 24.3m
v 243m
Question Type: Free Text
Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,370
Question 23 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
b) 5.035I = ml
Accepted answers:
v’ 51 35ml
v 5135 ml
v 5135ml
v 5L35ML
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Question Type: Free Text

Date Added: Mon 13th Sep 2021

Last Modified: N/A

QID#: 29,002,377
Question 24 Primary 5 Maths » Primary 5 Maths (Term 4)

A number with 2 decimals places when rounded off to 1 decimal place is 9.4.
a) What is the smallest possible value of the number?

Accepted answers:

v 9.35

Question Type: Free Text

Date Added: Mon 13th Sep 2021

Last Modified: N/A

QID#: 29,002,386
Question 25 Primary 5 Maths » Primary 5 Maths (Term 4)

b) What is the largest possible value of that number?

Accepted answers:

v 944

Question Type: Free Text

Date Added: Mon 13th Sep 2021

Last Modified: N/A

QID#: 29,002,387
Question 26 Primary 5 Maths » Primary 5 Maths (Term 4)

Mr Tay deposited $8000 in a bank for a year at an annual interest rate of 2%. How much money did he
have in the bank in total at the end of 1 year?

Accepted answers:
v’ $8160
v’ $8160

v 8160

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,410

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit

1 pt

1 pt

1 pt

11/32


https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002377
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002377&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1814218
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002386
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002386&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1814218
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002387
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002387&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1814218

9/20/21, 10:54 PM ClassMarker - Manage Test

Correctly answered feedback

interest -> 8000 + 100 x 2 = 160
160+8000=8160

Incorrectly answered feedback

interest -> 8000 + 100 x 2 = 160
160+8000=8160

Question 27 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

E ntl.‘.urrlummmnyiﬂna mu%ﬂ%h‘imm If Daivilén his 524
mara than Philip, how much maney do thay hawve akogekher?

Accepted answers:
v $51

v $51

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,433

Correctly answered feedback

1.'.Ir—ﬂl'*‘
1 5
zP=3°F

Tu = $21
| 17u > $21 + 7 x 17 = $51

Incorrectly answered feedback

1I.l‘-ﬂl'-'
3 5,
Bvl=3"F

| 7u > $21
| 17u > $21 +7 x 17 = $51
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Question 28 Primary 5 Maths » Primary 5 Maths (Term 4)

A pinca of wire I3 used 10 form 8 square with an area of 3 or? The same piecn
of wire was then reshaped to form a ianao wth 3.aqusl skies. bedorm
WMiuhhmhmmmmﬁmﬁ?‘m shies a5 showm '

Accepted answers:

v 8

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: Mon 13th Sep 2021
QID#: 29,002,442

Correctly answered feedback

J36=6

Bxd=24
24+3 =8

Incorrectly answered feedback

J36 =6

Bx4=24
24+3 =8

Question 29 Primary 5 Maths » Primary 5 Maths (Term 4)

A toy car takes 12 minutes to travel 3 rounds around a track. How long will it take to travel 5 rounds?

Accepted answers:
v’ 20min
v’ 20 min

v 20
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Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,462

Correctly answered feedback
5 rounds -> 12+3x5=20

Incorrectly answered feedback
5 rounds -> 12+3x5=20

Question 30 Primary 5 Maths » Primary 5 Maths (Term 4)

Belinda packed 25 cookies in each tub and sold it for $20. How many cookies did she pack if she
earned $3007?

Accepted answers:

v 375

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,470

Correctly answered feedback

300+20=15
15x24=375

Qu estion 31 Primary 5 Maths » Primary 5 Maths (Term 4)

Aunile Anetla baught 3 kg of flour, She used L of the four to bake sams

i
Gookles und = kg to make a cheesecakn, How much flour woidd sha hava
ety

Accepted answers:
v’ 1 1/4kg
v 11/4 kg

v 11/4

Question Type: Free Text
Date Added: Mon 13th Sep 2021
Last Modified: N/A
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QID#: 29,002,479

Correctly answered feedback
1 1
-X3 = 1=
2 i kg
3-1

pd |

i =1l
—: llkg

Incorrectly answered feedback
1 1
EI 3 =1=-kg

i
1 .1l
3—-1 =t likg

fd |

Question 32

helght of the friangle, find the ansa of the'tiangie.

b-- =T w7

Accepted answers:
v’ 54cm?2
v’ 54 cm2

v 54

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,490

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit

Tha figuee Boiow, nol dravn o stale, shows 9 sgudne ovarlapping a liangle.
Given that the langlirot tha-square is § cm, and Ihe base of the Wangle [ Tie

Primary 5 Maths » Primary 5 Maths (Term 4)

1 pt

15/32


https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002479
https://www.classmarker.com/a/tests/qb/manage/?test_id=1814218&question_id=29002479&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1814218

9/20/21, 10:54 PM

u-=>9

u-=>9

v $18.30
v $18.30

v 18.30

Question Type:
Date Added:
Last Modified:
QID#:

Tu=>0+3
qu->4x3

1
Areanflr{angia-—z Xx9x12 =54 cm?

ClassMarker - Manage Test

u=>98+3=3
qu->4x3

1
Areanflrfamia-—z X9 x12 =54 cm?

i

12

Incorrectly answered feedback

3
12

(1]

i

Question 33

Accepted answers:

Free Text

Mon 13th Sep 2021
N/A

29,002,504

Correctly answered feedback

10 pens -> $1.35x10=13.50
10 books ->2.40 x 2 = 4.80
total -> 13.50 + 4.80 =18.30

Incorrectly answered feedback

10 pens -> $1.35x10=13.50
10 books ->2.40 x 2 = 4.80
total -> 13.50 + 4.80 =18.30

Question 34

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 4)

Each pen cost $1.35 and 5 books cost $2.40. How much do 10 pens and 10 books cost?

Primary 5 Maths » Primary 5 Maths (Term 4)

1 pt

1 pt
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Find thevahme af .

=
=
B

e

t
=
:p..q_an.

Accepted answers:
v 4125
v 418
V418
v 41/8

v 41/8

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: Mon 13th Sep 2021
QID#: 29,002,519

Correctly answered feedback

4g:ups 205
1gap205+4=0.125
Ans = 4125

OR

1gap-}1+ﬂ=%
Ans-}ll%

Incorrectly answered feedback

4g¥|pﬁ =05
1gap2>205+4=0125
Ans = 4.125

OR
1gap>1+8=

Ans-}#%

= ]

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Qu estion 35 Primary 5 Maths » Primary 5 Maths (Term 4)

Magdaline earns $6750 every month. She saved $2160 and spends the rest. What percentage of her
salary did she spend?

Accepted answers:
v 68%
v 68 %

v 68

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,538

Correctly answered feedback

Spent > $6750 - $2160 = $4590
Percentage spent 2 —— 5“ lﬂﬂ% = 68%

Alternative solution
Percentage saved = Eﬂ x 100% = 32%
Percentage spent 2 mﬂ% 32% =68%

Incorrectly answered feedback

Spent > $6750 - $2160 = $4590
Percentage spent 2 —— "’5“ mn% = 68%

Alternative solution
Percentage saved - —— 2% X 100% = 32%

Percentage spent = 100%-32% = 68%

Question 36 Primary 5 Maths » Primary 5 Maths (Term 4)

Observe the pattern below.
1,2,0,1,1,2,0,1,1,2...

Find the 95th number in the pattern

Accepted answers:

v o

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,586

Correctly answered feedback
95+4=23 R 3

Incorrectly answered feedback
95+4=23 R 3

Question 37 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

Cemplele tha drawing bedow [0 show & cuboid vith & vohime of 32 o, A side

of the cubioid hag been drawn for you,
' '|m}' r 1 ) r . i ) L )
P, L i . : . i
a 1 i . B 5 &

Question Type: Essay

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,633

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit 19/32
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Incorrectly answered feedback

Question 38

Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The average amount of money Andy, Bill and Chandra had was $35.50. The average amount of
money Andy, Bill and Chandra and Dave was $40. How much money did Dave have?

Accepted answers:
v $53.50
v $53.50

v 53,50

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,659

Correctly answered feedback

3x35.50=106.50
4x40=160
160-106.50=53.50

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit 20/32
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3x35.50=106.50
4x40=160
160-106.50=53.50

Question 39 Primary 5 Maths » Primary 5 Maths (Term 4)

The fguna befow, nol drewn 10 scal, shows TranglsADG,
HAD =8 om; BE=18 cm. and GE & 5 ém, find the srea of Triangie ABC,

Accepted answers:

v 52cm2
v’ 52cm2

v 52

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: Mon 13th Sep 2021
QID#: 29,002,671

Correctly answered feedback

=N

ABC > %x1ﬂxﬂ=?2

ADC > s
2

ABD > 72-20 =52cm?

Bx5=20

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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ABC > %x'l:ﬂxﬂ =72
1
—X
2
ABD - 72-20 =52cm?

ADC > ~x8x5=20

Question 40 Primary 5 Maths » Primary 5 Maths (Term 4)

Bala and Raja had some rubber bands in the ratio of 11:9. Their mother gave each of them 72 rubber
bands. In the end, the ratio off the number of rubber bands and Bala had tot he number of rubber
bands Raja had became 10:9. How many rubbers bands did Bala have at first?

Accepted answers:

v 88

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,692

Correctly answered feedback

v

B:R | Diff B:R Diff
11:9 2 10:9 1
20:18 2

Qu- 72
w=2>72+9=§8
Bala al first, 11u > 11x8 =88

Incorrectly answered feedback

v

B:R | Diff B:R Diff
11:9 2 10:9 1
20:18 2

Su= 72
Tw=->72+9=8
Bala al first, 11u > 11x8 =88

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Question 41 Primary 5 Maths » Primary 5 Maths (Term 4)

Louis worked as a Safe Distancing Ambassador and was paid at a rate of $8.50 per hour. He gets paid
extra $10 per day is he works on a Saturday or Sunday. How much would he have earned if he works 7
hours a day from Monday to the following Monday?
Accepted answers:

v $496

v $49

v 496

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,716

Correctly answered feedback

Total number of days, 8 days - 8x7x$8.50=476
total amount - 476+20=496

Incorrectly answered feedback

Total number of days, 8 days - 8x7x$8.50=476
total amount - 476+20=496

Question 42 Primary 5 Maths » Primary 5 Maths (Term 4)

Jamie has 53 blue pens and 36 red pens. She packed 3 blue pens and 4 red pens into a set to give as
gifts. How many pens will there be left after she packed the maximum number of gift sets?

Accepted answers:

v 26

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,734

Correctly answered feedback
53+3~17

36+4=9

Gift sets -> 9x(3+4)=63

left - 53+36=63=26

Incorrectly answered feedback
53+3~17

36+4=9

Gift sets -> 9x(3+4)=63

left - 53+36=63=26

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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1 pt
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v’ $220.50

v’ $220.50

Question Type:
Date Added:
Last Modified:
QID#:

v’ $4500
v’ $ 4500

v’ 4500

Question Type:
Date Added:
Last Modified:
QID#:

Question 43

The price of a TV set after 30% discount was $3150.
a) Mr Cheng paid 7% GST of the discounted price. How many GST did Mr Cheng pay?

Accepted answers:

Free Text

Mon 13th Sep 2021
N/A

29,002,770

Correctly answered feedback
GST -> 3150/100 x 7 = 220.50

Incorrectly answered feedback
GST -> 3150/100 x 7 = 220.50

Question 44

b) What was the original price of the TV set?

Accepted answers:

Free Text

Mon 13th Sep 2021
N/A

29,002,779

Correctly answered feedback
original price -> 3150/100 x7 = 4500

Incorrectly answered feedback
original price -> 3150/100 x7 = 4500

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Primary 5 Maths » Primary 5 Maths (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Question 45 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Tha figure bakvwis mede up of 2Sguares, Find the @sa of the unshaded
fiart,

Fr— i —  F

Accepted answers:
v’ 64cm2
v’ 64 cm2

v 64

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,814

Correctly answered feedback

Q12)

b R

Areaof2sq=> 8x8x2 'H'Iﬁﬂ

Area of Triangle A = B8

Area of Triangle B - 16 4 b .
Unshaded = 128 - .32 -32 =84 cm?

Incorrectly answered feedback
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Q12) ——

Areaof2sq=> 8x8x2 -Huia
Area of Triangle A > B%8

Area of Triangle B - 16 4 b .
Unshaded = 128 - .32 -32 =64 cm?

Question 46 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Philip had twice as much money as Matthew. If Phillip gives $45 to Matthew, the ratio of the amount of
money Philip has to the amount of money Matthew has will be 4:5. How much money does Philip need
to give Matthew such that they would have the same amount of money?
Accepted answers:

v $33.75

v $3375

v 33.75

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,860

Correctly answered feedback
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2u > %45

Tu>845+2 = §22.50

9u > $22.50 x 9 = $202.50

P, st first, 6u > $22.50 x 6 = $135
Equal amt - $202.50 + 2 = $101.25
Give Matt - $135 - $101.25 =$33.75

Incorrectly answered feedback

Tol°

- ;:., M. " Moteat
u J.hn. "‘r:'l. - ™

=
L ]
&

-

:'M
J‘\ 3 A

":!.‘D“

a
6
ki

.M

2u > $45

Tu>8$45+2 = §22.50

9u > $22.50 x 9 = $202.50

P, &t first, 6u > $22.50 x 6 = $135
Equal amt - $202.50 + 2 = $101.25
Give Matt > $135 - $101.25 =$33.75

Primary 5 Maths » Primary 5 Maths (Term 4)

Question 47

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Xenia had 96 sweets and chocolates in the ratio of 5:3 respectively. She then gave away some sweets
and bought some chocolates in the ratio of 2:1. In the end, she realised that she had equal number of
sweets and chocolates. How many sweets and chocolates did Xenia have in the end?

Accepted answers:

v 88

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: Mon 13th Sep 2021
QID#: 29,002,877

Correctly answered feedback

Sweets > 96+ 5x5=60
Choc > 96 +5x3=36

L

3u->60-36=24
lu=>24+3=8
3+8=44
44x2 =88

Incorrectly answered feedback

Sweets > 96+ 5x5=60
Choc 2> 96 +5x3=36

L 3

3u->60-36=24
lu=>24+3=8
3+8=44
44x2 =88

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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Question 48 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

Tha tani bakow, not dravn to ml&.niaﬂymw.smwmrm

patred olt-ind the helght of fhe weter in the fenk bacame 7-om,

(#) Find ihe velame olvafier pooret o of the tank,

(b} What is the retiTol the amount of water in the 1ank I hend lo the amouey
of watlr poleed dultvthe origine| amousil of vater i 1He'tank.
Leswna your answer in the simplest farm.

T(ﬁf
27 cm
| _Jj;;m

Question Type: Essay

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,895

Correctly answered feedback

2

—x 27 =18cm
(@) Height of waler in tank > 2
1B8-7=11cm
Vol of waterout 2 35x 20 x 11 = 7700 em? jormi
(b) Height of water in tank <> 18 cm OR
Final : Out : Orig 4500 : TT00 - 12600

T:11:18 _ 7:11:18

Incorrectly answered feedback

2 .27=18cm
(a) Height of water in tank > 2
18-7=11cm
Vol of walerout 2 35 x 20 x 11 = 7700 cm? jor ety
(b) Height of water in tank - 18 cm OR
Final : Out : Orig 4500 : TT00 : 12600
f:1:18 _ 7:11:18
Qu estion 49 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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Accepted answers:

v 6

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,910

Correctly answered feedback
Assumption

10x50=500

500-240=260

260+65=4

Hits - 19-4=6

Incorrectly answered feedback
Assumption

10x50=500

500-240=260

260+65=4

Hits - 19-4=6

Question 50

cecomad the sabe of tickets for he Show.

ClassMarker - Manage Test

At a funfair, Adam there 10 darts. For every shot that hits the target, Adam earns 50 points and for
every shot he misses, he loses 15point. He earned 240 points in total. How many darts hit the target?

Primary 5 Maths » Primary 5 Maths (Term 4)

asny Bunch was haling a cancert n Singapare and Ihe gragh ta,,

200 4

Red Zome Bise Zona Graen Zong

Moan Lono

| Zoem | Fad EEia"|'E‘u'¢.url

Mean

| Friee ol 1 ficksd ]_E HENEED

ES68

shadium?

Accepted answers:

v’ 2400

{airhaﬂauum Wharl held The concert was 355 flled wiral iz the capacity of the
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Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,920

Correctly answered feedback

580+720+440+300=2040
capacity - 100% - 2040/85x100=2400

Incorrectly answered feedback

580+720+440+300=2040
capacity - 100% - 2040/85x100=2400

QU estion 51 Primary 5 Maths » Primary 5 Maths (Term 4)

b) 10% of the Blue One tickets were bought at a 20% early bird discount. What was the total amount of
money collected from the sale of the Blue Zone tickets?

Accepted answers:
v’ $97372.80
v $97372.80

v 97372.80

Question Type: Free Text

Date Added: Mon 13th Sep 2021
Last Modified: N/A
QID#: 29,002,936

Correctly answered feedback

10 720-72

(b) No. of discounted tickets=> 100

80  138-$110.40

Cost of 1 discounted ticket = 100
Sum for discounted tickets = 72 x $110.40
= $7048.80 ¢

Normal tickets = 720 - 72 = 648
Sum for normal tickets - 648 x $138
= $80 424
Total = $7948.80 + $89 424 = $97372.80

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1814218&trk=edittest_inrow_edit
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10 720-72

(b) No. of discounted tickets=> 100

E!]--aun'li.!-'5=5-11IZI'.ila|'.".l

Cost of 1 discounted ticket = 100
Sum for discounted tickets = 72 x $110.40
=$7048.80 ¢

MNormal tickets - 720 - 72 = 648
Sum for normal tickets = 648 x $138
= $80 424
Total = $7948.80 + 389 424 = $97372.80
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